

Magdalena Vencková

On the boundedness of solutions of higher order differential equations

*Archivum Mathematicum*, Vol. 13 (1977), No. 4, 235--242

Persistent URL: <http://dml.cz/dmlcz/106983>

## Terms of use:

© Masaryk University, 1977

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://project.dml.cz>

## ON THE BOUNDEDNESS OF SOLUTIONS OF HIGHER ORDER DIFFERENTIAL EQUATIONS

M. VENCKOVÁ, Bratislava

(Received November 20, 1976)

In the paper the existence and the boundedness of solutions of a  $2n$ -th order differential equation is proved, by means of a generalization of Gronwall-Bellman inequality. The results generalize some theorems proved by M. Ráb [2].

**Lemma 1.** *Let  $h, p, g \in c_0(I)$ ,  $I = \langle a, \infty \rangle$ ,  $p > 0$ ,  $h \geq 0$ ,  $g \geq 0$  for all  $t \in I$  and  $h$  be a nondecreasing function on  $I$ . If  $u \in c_0(I)$ ,  $u(t) \geq 0$  and for all  $t \in I$*

$$(1) \quad u(t) \leq h(t) + \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) u(t_0) dt_0 \dots dt_{2n-1},$$

then

$$(2) \quad u(t) \leq h(t) \exp \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) dt_0 \dots dt_{2n-1} \quad (t \in I).$$

Proof: Suppose first that  $h(t) > 0$  in  $I$ . Denote

$$U(t) = \max_{a \leq \tau \leq t} u(\tau) \quad (t \in I).$$

The function  $U$  is nondecreasing continuous function and  $u(t) \leq U(t)$  for all  $t \in I$ , hence from (1) it follows that

$$\begin{aligned} (3) \quad u(t) &\leq h(t) + \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) U(t_0) dt_0 \dots dt_{2n-1} \leq \\ &\leq h(t) + \int_a^t U(t_{2n-1}) \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) dt_0 \dots dt_{2n-1} = \\ &= h(t) + \int_a^t U(t_{2n-1}) \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} G(t_n) dt_n \dots dt_{2n-1}, \end{aligned}$$

where

$$G(t_n) = \int_a^{t_n} \dots \int_a^{t_1} g(t_0) dt_0 \dots dt_{n-1}.$$

Since (3) is true for all  $\tau \in \langle 0, t \rangle$ , from the monotonicity of  $h$  and nonnegativity of all functions under the sign of integral we get

$$\begin{aligned} u(\tau) &\leq h(\tau) + \int_a^\tau U(t_{2n-1}) \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} G(t_n) dt_n \dots dt_{2n-1} \leq \\ &\leq h(t) + \int_a^t U(t_{2n-1}) \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} G(t_n) dt_n \dots dt_{2n-1} \end{aligned}$$

and also

$$(4) \quad U(t) = \max_{a \leq \tau \leq t} u(\tau) \leq h(t) + \int_a^t U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1}$$

where

$$H(t_{2n-1}) = \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} G(t_n) dt_n \dots dt_{2n-2}.$$

With respect to the positivity of the function  $h$ , we can divide (4) by the right-hand side and we get

$$\frac{U(t)}{h(t) + \int_a^t U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1}} \leq 1, \quad (t \in I).$$

Let  $T \geq a$  be an arbitrary number. Since  $h(t)$  is a nondecreasing function for all  $t$ :  $a \leq t \leq T$ , we have that  $h(t) \leq h(T)$  and hence

$$\frac{U(t)}{h(T) + \int_a^t U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1}} \leq 1.$$

Multiplying the last inequality by  $H(t)$  and integrating from  $a$  to  $T$  we get

$$\begin{aligned} \int_a^T \frac{U(t) H(t)}{h(T) + \int_a^t U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1}} dt &\leq \int_a^T H(t) dt \\ \ln \left[ h(T) + \int_a^T U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1} \right] - \ln h(T) &\leq \int_a^T H(t) dt, \end{aligned}$$

hence

$$(5) \quad h(T) + \int_a^T U(t_{2n-1}) H(t_{2n-1}) dt_{2n-1} \leq h(T) \exp \int_a^T H(t) dt$$

From the formulae (4), (5) we get

$$u(T) \leq U(T) \leq h(T) \exp \int_a^T H(t) dt.$$

Since  $T \geq a$  is an arbitrary number, the inequality (2) is proved on the whole interval  $I$ .

If  $h(t) \geq 0$  on the interval  $I$ , we take the functions  $h_m(t) = h(t) + \frac{1}{m}$ . For these functions Lemma 1 is true and we get

$$u(t) \leq \left[ h(t) + \frac{1}{m} \right] \exp \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} G(t_0) dt_0 \dots dt_{2n-1}, \quad (t \in I).$$

By a limit process for  $m \rightarrow \infty$  (for  $t$  fixed) we get (2) again.

**Theorem 1.** Let  $t_0$  be a real number,  $j = (t_0, \infty)$ ,  $a \in j$ ,  $x_0^*, x_1^*, \dots, x_{2n-1}^*$  be real numbers. Let  $p(t) > 0$ ,  $g(t) \geq 0$  be continuous functions on  $j$  and let  $f(t, x)$  be continuous on  $j \times (-\infty, \infty)$  and  $|f(t, x)| \leq g(t) \cdot |x|$ , for each point  $(t, x) \in j \times (-\infty, \infty)$ . Then every solution of the initialvalue problem

$$(6) \quad [p(t)x^{(n)}]^{(n)} = f(t, x)$$

$$(6a) \quad x(a) = x_0^*, x'(a) = x_1^*, \dots, p(a)x^{(n)}(a) = x_n^*, \dots, [p(t)x^{(n)}(t)]^{(n-1)}(a) = x_{2n-1}^*$$

exists on the whole interval  $j$  and for  $t \geq a$  the following estimation is true

$$|x(t)| \leq h(t) \exp \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) dt_0 \dots dt_{2n-1},$$

where

$$(7) \quad h(t) = |x_0^*| + |x_1^*|(t-a) + \dots + |x_{n-2}^*| \frac{(t-a)^{n-2}}{(n-2)!} + |x_{n-1}^*| \frac{(t-a)^{n-1}}{(n-1)!} + \\ + |x_n^*| \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} dt_n \dots dt_{2n-1} + |x_{n+1}^*| \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{t_n - a}{p(t_n)} dt_n \dots dt_{2n-1} + \\ + \dots + \frac{|x_{2n-1}^*|}{(n-1)!} \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{(t_n - a)^{n-1}}{p(t_n)} dt_n \dots dt_{2n-1}.$$

Proof. The initial value problem (6), (6a) is equivalent to the integral equation

$$\begin{aligned}
 (8) \quad x(t) = & x_0^* + x_1^*(t-a) + \dots + x_{n-2}^* \frac{(t-a)^{n-2}}{(n-2)!} + x_{n-1}^* \frac{(t-a)^{n-1}}{(n-1)!} + \\
 & + x_n^* \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} dt_n \dots dt_{2n-1} + x_{n+1}^* \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{(t_n-a)}{p(t_n)} dt_n \dots dt_{2n-1} + \\
 & + \dots + \frac{x_{2n-1}^*}{(n-1)!} \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{(t_n-a)^{n-1}}{p(t_n)} dt_n \dots dt_{2n-1} + \\
 & + \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} f[t_0, x(t_0)] dt_0 \dots dt_n \dots dt_{2n-1}.
 \end{aligned}$$

Let us suppose now that a solution  $x(t)$  of (6), (6a) exists on the interval  $\langle a, T \rangle$  and that this is the greatest interval of existence of that solution. Then on this interval  $|x(t)|$  satisfies the inequality

$$|x(t)| \leq h(t) + \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) |x(t_0)| dt_0 \dots dt_{2n-1}.$$

Since all the assumptions of Lemma 1 are fulfilled, we have

$$|x(t)| \leq h(t) \exp \int_a^t \int_a^{t_{2n-1}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} g(t_0) dt_0 \dots dt_{2n-1}.$$

This function is bounded on every finite interval, hence  $|x(t)| \leq K$  on the interval  $\langle a, T \rangle$ .

Let us further estimate  $|x'(t)|$ ,  $|x''(t)|$ , ...,  $|p(t) x^{(n)}(t)|$ , ...,  $|[p(t) x^{(n)}(t)]^{(n-1)}|$ . From (8) we get the following system of equations:

$$\begin{aligned}
 x'(t) = & x_1^* + \dots + \frac{x_{2n-1}^*}{(n-1)!} \int_a^t \int_a^{t_{2n-2}} \dots \int_a^{t_{n+1}} \frac{(t_n-a)^{n-1}}{p(t_n)} dt_n \dots dt_{2n-2} + \\
 & + \int_a^t \int_a^{t_{2n-2}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \dots \int_a^{t_1} f[t_0, x(t_0)] dt_0 \dots dt_{2n-2},
 \end{aligned}$$

$$\begin{aligned}
x''(t) &= x_2^* + \dots + \frac{x_{2n-1}^*}{(n-1)!} \int_a^t \int_a^{t_{2n-3}} \dots \int_a^{t_{n+1}} \frac{(t_n - a)^{n-1}}{p(t_n)} dt_n \dots dt_{2n-3} + \\
&+ \int_a^t \int_a^{t_{2n-3}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \int_a^{t_1} f[t_0, x(t_0)] dt_0 \dots dt_{2n-3}, \\
&\vdots \\
x^{(n)}(t) &= \frac{1}{p(t)} \left[ x_n^* + x_{n+1}^*(t-a) + \dots + x_{2n-1}^* \frac{(t-a)^{n-1}}{(n-1)!} + \right. \\
&\quad \left. + \int_a^t \int_a^{t_{n-1}} \dots \int_a^{t_1} f[t_0, x(t_0)] dt_0 \dots dt_{n-1} \right], \\
p(t)x^{(n)}(t) &= x_n^* + \dots + x_{2n-1}^* \frac{(t-a)^{n-1}}{(n-1)!} + \int_a^t \int_a^{t_{n-1}} \dots \int_a^{t_1} f[t_0, x(t_0)] dt_0 \dots dt_{n-1}, \\
&\vdots \\
[p(t)x^{(n)}(t)]^{(n-1)} &= x_{2n-1}^* + \int_a^t f[t_0, x(t_0)] dt_0.
\end{aligned}$$

Thus we come to the inequality

$$|x'(t)| \leq h_1(t) + \int_a^t \int_a^{t_{2n-2}} \dots \int_a^{t_{n+1}} \frac{1}{p(t_n)} \int_a^{t_n} \int_a^{t_1} g(t_0) \cdot |x(t_0)| dt_0 \dots dt_{2n-2},$$

where

$$\begin{aligned}
h_1(t) &= |x_1^*| + |x_2^*| \cdot (t-a) + \dots + \\
&+ \frac{|x_{2n-1}^*|}{(n-1)!} \int_a^t \int_a^{t_{2n-2}} \dots \int_a^{t_{n+1}} \frac{(t_n - a)^{n-1}}{p(t_n)} dt_n \dots dt_{2n-2}.
\end{aligned}$$

Since  $|x(t_0)| \leq K$ , we deduce the existence of a  $K_1 > 0$  such, that  $|x'(t)| \leq K_1$  for all  $t \in \langle a, T \rangle$ . In the same way we can show that  $|x''(t)|, \dots, |x^{(n-1)}(t)|, |p(t)x^{(n)}(t)|, \dots, |[p(t)x^{(n)}(t)]^{(n-1)}|$  are bounded. Hence from the corollary of Theorem 1.1.1 (see (1) page 14) the interval  $\langle a, T \rangle$  cannot be the greatest interval of existence of the solution of the given initial value problem.

There still remains to show the existence of the solution of the problem (6) on the interval  $(t_0, a)$ .

If  $t_0 < \tau \leq a$ , then the substitution  $t = 2a - \tau$  transforms the differential equation

$$[p(\tau)x^{(n)}(\tau)]^{(n)} = f[\tau, x(\tau)]$$

into the differential equation

$$(6') \quad [p_1(t) x_1^{(n)}(t)]^{(n)} = f_1[t, x_1(t)],$$

where

$$(9) \quad p_1(t) = p(2a - t) = p(\tau), f_1[t, x_1(t)] = f[2a - t, x_1(t)] = f[\tau, x(\tau)]$$

and

$$x_1(t) = x(2a - t) = x(\tau).$$

The initial conditions (6a) are transformed into the form

$$(6a') \quad x_1(a) = x_0^*, x_1'(a) = -x_1^*, \dots, p_1(a) x_1^{(n)}(a) = (-1)^n x_n^*, \dots, \\ [p_1(t) x_1^{(n)}(t)]^{(n-1)}(a) = (-1)^n x_{2n-1}^*.$$

Since the problem (6'), (6a') is essentially the same as the problem (6), (6a) and any solution of the latter problem exists on every finite interval, the same is true for the solution of the problem (6'), (6a'), too. From the transformation (9) we get any solution of (6), (6a) exists on  $(t_0, a)$ . Q.E.D.

**Theorem 2.** Let  $p(t) > 0$ ,  $q(t)$  be continuous functions on  $I = \langle a, \infty \rangle$ . Let  $A(t)$  be determined by (12) where the function  $a_i(t)$ ,  $i = 0, \dots, 2n - 2$ , are defined by (11). Let  $f(t, x)$  be continuous on  $I \times (-\infty, \infty)$  and such that  $|f(t, x)| \leq F(t, |x|)$ , where  $F(t, u)$  is continuous, nonnegative and nondecreasing in variable  $u$  on  $I \times (-\infty, \infty)$  and such that the maximal solution  $\Phi(t)$  of the equation

$$B(t) = c_0 + \frac{1}{c} \int_a^t A^{2n-1}(s) F[s, A(s) B(s)] ds$$

exists on  $I$  for all values  $c_0, c > 0$ . Then any solution of the problem

$$(10) \quad [p(t) x^{(n)}]^{(n)} + q(t) x = f(t, x)$$

$$(6a) \quad x(a) = x_0^*, x'(a) = x_1^*, \dots, p(a) x^{(n)}(a) = x_n^*, \dots, [p(t) x^{(n)}(t)]^{(n-1)}(a) = x_{2n-1}^*$$

exists in  $I$ .

**Proof.** By the method of variation of parameters we get the solution of the differential equation (10) on the interval of existence  $\langle a, T \rangle$  in the form

$$x(t) = y(t) + \int_a^t \frac{W(t, s)}{W(s)} J[s, x(s)] ds,$$

where  $y(t) = c_1 u_1(t) + c_2 u_2(t) + \dots + c_{2n} u_{2n}(t)$ , and  $u_1(t), u_2(t), \dots, u_{2n}(t)$  is a fundamental system of solutions of the differential equation

$$[p(t) y^{(n)}]^{(n)} + q(t) y = 0$$

in  $I$ ,  $c_1, \dots, c_{2n}$  are real numbers,

$$W(s) = \begin{vmatrix} u_1(s) & \dots & u_{2n}(s) \\ u'_1(s) & \dots & u'_{2n}(s) \\ \vdots & & \vdots \\ p(s) u_1^{(n)}(s) & \dots & p(s) u_{2n}^{(n)}(s) \\ \vdots & & \vdots \\ [p(s) u_1^{(n)}(s)]^{(n-1)} & \dots & [p(s) u_{2n}^{(n)}(s)]^{(n-1)} \end{vmatrix}$$

and

$$W(t,s) = \begin{vmatrix} u_1(s) & \dots & u_{2n}(s) \\ u'_1(s) & \dots & u'_{2n}(s) \\ \vdots & & \vdots \\ p(s) u_1^{(n)}(s) & \dots & p(s) u_{2n}^{(n)}(s) \\ \vdots & & \vdots \\ [p(s) u_1^{(n)}(s)]^{(n-2)} & \dots & [p(s) u_{2n}^{(n)}(s)]^{(n-2)} \\ u_1(t) & \dots & u_{2n}(t) \end{vmatrix}, \quad \begin{array}{l} a \leq s \leq t, \\ t \in I. \end{array}$$

Let

$$(11) \quad \begin{aligned} c_0 &= \max \{ |c_1|, |c_2|, \dots, |c_{2n}| \}, \\ a_0(t) &= |u_1(t)| + \dots + |u_{2n}(t)|, \\ a_1(t) &= |u'_1(t)| + \dots + |u'_{2n}(t)|, \\ &\vdots \\ a_n(t) &= |p(t) u_1^{(n)}(t)| + \dots + |p(t) u_{2n}^{(n)}(t)|, \\ &\vdots \\ a_{2n-2}(t) &= |[p(t) u_1^{(n)}(t)]^{(n-2)}| + \dots + |[p(t) u_{2n}^{(n)}(t)]^{(n-2)}|, t \in I \end{aligned}$$

$$(12) \quad A(t) = \max \{ a_0(t), a_1(t), \dots, a_{2n-2}(t) \}, \quad t \in I$$

$W(s)$  is a constant function different from zero and we put  $|W(s)| = c$ . Then

$$\begin{aligned} |x(t)| &\leq |y(t)| + \frac{1}{c} \int_a^t |W(t,s)| \cdot |f[t, x(s)]| ds \leq \\ &\leq c_0 A(t) + \frac{1}{c} \int_a^t A^{2n-1}(s) \cdot A(t) \cdot F[s, |x(s)|] ds = \\ &= A(t) \left[ c_0 + \frac{1}{c} \int_a^t A^{2n-1}(s) \cdot F[s, |x(s)|] ds \right], \quad t \in \langle a, T \rangle. \end{aligned}$$



Denote

$$B(t) = c_0 + \frac{1}{c} \int_a^t A^{(2n-1)}(s) \cdot F[s, |x(s)|] ds, \quad t \in \langle a, T \rangle.$$

Then

$$|x(t)| \leq A(t) \cdot B(t) \leq A(t) \cdot \left\{ c_0 + \frac{1}{c} \int_a^t A^{2n-1}(s) F[s, A(s) \cdot B(s)] ds \right\}, \\ t \in \langle a, T \rangle.$$

On the basis of the lemma from paper (3) we get  $B(t) \leq \Phi(t)$  if  $t \in I$  and hence  $|x(t)| \leq A(t) \cdot \Phi(t)$  for all  $t \in \langle a, T \rangle$ . Similarly we get that  $|x'(t)| \leq A(t) \cdot \Phi(t)$ ,  $t \in \langle a, T \rangle$ , ...,  $|x^{(n)}(t)| \leq A(t) \cdot \Phi(t)$ ,  $t \in \langle a, T \rangle$ , ...,  $[p(t) x^{(n)}(t)]^{(n-1)} \leq A(t) \cdot \Phi(t)$ ,  $t \in \langle a, T \rangle$ . If  $T < \infty$ , then the function  $A(t) \cdot \Phi(t)$  is bounded in  $\langle a, T \rangle$  and we come to the contradiction, similarly as in Theorem 1. Hence  $T = \infty$  and the theorem is proved.

## REFERENCES

- [1] Cesari L.: *Asimptotičeskoje povedenje i ustojčivost' rešenij obyknovennyh diferencialnyh uravnenij*, Moskva 1964.
- [2] Ráb M.: *On the Boundedness of Solutions of Second-order Differential Equations*, (Lecture held on Winter-School of Differential Equations in 1974).
- [3] Wiswanatham B.: *A generalization of Bellman's lemma*, Proc. Amer. Math. Soc. 14 (1963), 15—18.

*M. Vencková*  
816 31 Bratislava, Mlynská dolina  
Czechoslovakia